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1. (A)

(B)
2. (A)
(B)
ML-122

Give the meaning of growth & development. Explain the factors affecting growth. 14

OR

Explain Solow’s Neo-classical model in detail.

Answer in 2-3 lines : (any four) 4
(1) What do you mean by capital formation ?

(2) What is meant by natural growth rate ?

(3) Give the meaning of warranted growth rate ?

(4) State different types of golden age.

(5) According to Meade, what are the three principles on which economy

grows ?

Clarify Hicks & Harrod’s explanation of neutral & non-neutral technical progress. 14

OR

Explain in detail two sector model of Ujava.

Answer in 2-3 lines : (any four) 4
(1) What do you mean by technical progress ?

(2) What do you understand by disembodied technical progress ?

(3) State assumptions of Pasinitti model.

(4) Write any three criticisms of Pasinetti model.

(5) Give the meaning of embodied technical progress.
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3. (A) Review the progress of Indian economy during the planning period.

(B)

4. (A

(B)

ML-122

OR

Discuss in detail democratic & decentralized planning.

Answer in 2-3 lines : (any three)

(D
)
3)
4
)

Briefly explain the concept of planning.
What is meant by Indicative planning ?
What does investment criteria mean ?
What do you mean by objectives ?

State the objectives of planning in India.

Discuss in detail Post GATT international economic order.

OR

“World Bank Policies in developing countries”. Discuss.

Answer in 2-3 lines : (any three)

(1
2
3)
4
)

Give the meaning of infrastructure.
Explain briefly the need of infrastructure.
What is the main function of IMF ?
What are the functions of WTO ?

Briefly explain ‘GATS’.
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1.  (A) What is research ? Describe meaning of research work and briefly discuss its
components. 14
OR

(B)

2. (A)

(B)

ML-122

Indicate meaning of sample and explain non-probabilistic sampling methods

using example.

(1) The difference between the mean of a researcher’s sample and the mean of
the population of the sample is known as ? 4

(2)  Which is the first step in starting the research process ?

(3) State any two probabilistic sampling methods.

(4) Indicate difference between stratified sampling and cluster sampling.

Give definition of function. Explain rules of derivatives. 14

OR

Write short notes ;

(D
)

(1)
2)

€)

4

Geometrical interpretation of a derivative.

Economic functions.

IfY =logx, thendy/dx=__ ? 4
If Marginal Revenue Function (MR) = 6 — 4x; what will be Total Revenue
Function ?

If Total Cost Function (C) = 100 + 0.55Y, then what will be Marginal
Propensity to Consume (MPC) and value of multiplier (k) ?

If demand function is x = 30 — 4p — p?, for p = 3 what will be the elasticity

of price with respect to demand ?
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3. (A) Write short notes : 14

(B)
4. (A)

(B)
ML-122

(1)  One tailed and two tailed test
(2) Properties of normal distribution
OR
Write short notes :
(1) t-test
(2) Chi-square test
(1)  What is hypothesis ? 3
(2) Give definition of Type-I error.
(3) In Chi-square test value of expected count should be greater than ~ ?

Indicate assumptions of Analysis of Variance (ANOVA). Explain difference

between Analysis of Variance and Co-variance. 14

OR

Write short notes :

(1)
2)

(1
2
3)

Shortcut method for one way analysis of variance.

Two way analysis of variance.

How many dependent variables are there in a two way ANOVA ? 3
The degrees of freedom for error in ANOVA are ?
If standard deviation of population is 35 and sample size is 9 then standard

deviation of sampling distribution is



